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Sulphur dioxide affects
() hasmoglobin of blood () Arteries

(¢) Alveoli of Inngs
Ans : (¢) Alveoli of lungs

(d) Nerves

Which of the ollowing 15 not a functional compeonent
of an ecosystem”
{») Commmumties
(¢} Sunlight

Aus : (d) Energy flow

The fow of energy is not & fnctional component of
an ecosystem.

(b) Decomposers
(d) Energy flow

Free services provided to humans by ecosystems

melude

(a) control  of
concentration

{b) prevention of soil evosion

(c) Altering of pollutants from water and an

(d) all of the above

Ans : (d) all of the above

atmospheric  carbon  dioxide

Why do scientists think that human-induced global

warming will be more hanmful 1o plants and anunals

than were past. natural climate fluctuations?

(a) berause temnperatues will change faster

(b) becme the temperature changes will be lager

() becanse species now are less adaptable than
specics in the past

(d) hecanse ecosystems are now more complicated
than they used to be

Ans : (a) because temperatures will change faster

As energy is passed from one trophic level to anothey,

the amonnt of usable energy

(8) mereases

(b) decreases

(¢) remains the sane

(d) energy is not passed from one trophic level to
another

Ans : (b) decreases

Each step in a food chain is called a

(a) trophic level (b) consumer level
(¢) food weh (d) producer

Ans : (a) trophic level

1 CO; ahsorbs some of the

that radiates from the

suiface of carth 1o spoce

(a) ozone (b) heat

(e) food weh () produncer
Ans : (b) heat

The biclogieal process by which carbon 18 retumed o
its reservoir i

(n) photssnthesis

{¢) carbou fixation

Ans ¢ (d) cellalar respnation

(b) de-nitrification
(d) cellular respiration

For comrosion of metals, there should be
{n) Exposed surface of mwetal

(b) Muisture

{c} Air

{d) Al of the above

Ans : (d) All of the above

The last cham of food is
(a) producers

(c) parasites

(b) decomnposers
(d) none of the abave

Ans : (b) decomposers

Replacing of plastic cups by the paper cups for selling
tea on train is preferred because

{n) paper cups are more aesthetic

(b) paper cups are more hygienic

(¢} poper cups are chenper

{d) paper cups are biodegradable and eco-friendly
Ans: (d) paper cops are biodegradable and oco-
friendly

The paper cups are prefared over plastic cups because
being biodegradable they are not potential wastes

. Food web is the

(a) food that a spider collects using its web
(b) network of interlinked trophic levels

(£) netwark of mterhnked food chains

(d) display of food items on a website

Ans : () network of interlinked food chains

A food web s n network of mter-linked food chuins
aperating at varions trophic levels

In the biosphere, which of the following is the ultimate
source of energy”
(n) Carbon

{c) Sunlight

(b) Water
(d) Nitrogen
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Chap 15 ° Our Enviromment
Ans @ (0) Sunlight

In a foed chain, the snake predated as rabbit winch
fed on fresh green bushes. What percentage mmount of
the energy aconmulated by rabbit, would be seguired
by snakes?

(a) 90%% (b) 10%
(c) 50% (d) 25%
Ans 1 (b) 10%

According io Lindeman s 10% energy law, emly 10% of
the encigy = tiunsfetied from one trohic level to the
snhsequent trophic level

16. The part of earth comprising water is called an
(a) atmoshphere {b) hydrosphere
(¢) hthosphee (d) none of the above

Ans : (b) hydrosphers

Buming to waste products at high temperature 1o
form ssh, reduces waste considerably. This met hod of
waste disposal is called
(a) composting

() recycling

Ans : (d) incineration
Incinerators involve degradation of wastes by buming
them at high temperatures

(b) sewnge treatment
{d) incineration

The diagram shows part of a river into which sewage

15 being pumped Some of the effects of sddmg sewage
Lo the niver are shown in the graph. At which point in
the river ave decomposers most active?

—RE—
A ; -

(a) D

(e} B
Ans: (c) B
The number of bacteria will suddenly rise near
the sewsge pumpmg stetion. They are effective
decompesers and can breakdown complex moleenles
mito suopler forms in sewage.
Individuals of any species at a place form

{a) biotic community (b) ecosystem

{¢) population (d) biome

Auns @ (¢) population

9. The dingrun shows the flow of energy through an

(b) €
(d) A
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ceasystem.
l A
S“"_.} T Primary o Secondacy
1 |consumers| 2 | consumers

The smallest amount of energy transferved between
organisins and the largest amount of energy lost to the
ecosystem is represented by which amrows?

Simallest energy Largest energy loss
transfer
(n) 4 3
(b) |2 1
(¢) 2 3
@ |1 4
Ans: (¢)

About 90% of the chemical energy receivesl by the
vabbit is utilised for metsbolic activities and lost ns
heat and undigested matter Only 10% is used for the
growth and formation of new tissues.

0. As u black widow spider consumes hor mate. what is
the lowest trophic level she conld be acenpying

(a) third (b) first
(¢) secand (d) fourth
Ans : (d) fourth

2. Human-cansed changes to the upittogen cvele are
expected to result m
(a) an incresse in acid vain
(b) an increase in the loss of species from ecosvsters
(¢) higher comcentrations of a greenhouse gns
(d) all of the above
Ans : (d) all of the above

2. The following graph shows the concentration of
OxyEen in a river, measured at stations 1-5 each 100
apart. A sewage outflow s obseived Just after station
1 At which stations will the concentration of organic
matter be lowest”

Oxypen
voncentration

T 2

3 4 5 —=
Station number Direction of

Sewage river flow
outflow
(a) 1 and 5 (b) 2 and 3
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Chap 15 : Our Environment

(¢) 3and 4
Ans: (a) I and 5
Sewage contuins large amounts of organic matter which
is utilised as an energy source hy aerobic bacteris

At paint 1, there s little consumption of oxygen by
nerobic bacteria which decomposes the arganic matter:
At vegiom 2 and 3, maost bactenial sclavity oceurs due
to organic matter At pamt 5, again there is litthe
uerobic activity because the oxvgen concentration is
higher
Trophic levels are formed by-
(a) only plants
(b) only anunals
(¢) only carmvores
(d) mrgmnsms linked in food chain
Ans : (d) organisms linked in food chain

(d) 4 and 5

Fertilisers are used on farmlands to incresse the
nutritive guality of soil and thus, the crop produoctivity.
However, they greatly impact ouy environment in
negative ways. A fertiliser imdustry is planning to
release nitrate-free o raduced nitiate containing
fertiliser to make it more environment-freindly This
control of nitrate rich fertilisers is necsssary because
(a) mitrates cause acid rain, killing trees and fishes
when relensed in the enviromment
{b) they decrease the natural fertility to the soil

(c) nitrates may lead to excessive growth of water
plants

(d) it powsons different crop plants

Ans : (¢) nitrates may lead to excessive growth of

water plants

Acid rain & a resnlt of acommilation of SO, and SO;

nlong with NO; which gets converted into acids

Nitrates are not involved in moking nitric acid.
rather these are essential for soil fertility. They leads
to the formation of amino acids which make protems.

A decresse m the grass population will most
immediately decrease the available energy for the

(a) mouse (b) enake
(¢} hawk (d) frog
Ans : (a) mouse

26. The disgram shows the organisms in a habitat

Which  of the fllowing indicates the feeding

T

»umn

relationships of these organisms?

Ans : (v)

P and @ are producers. 8 is the organisms which
devives its natrition from decyving lenves of both
the plants The A organism gets its food only from
flowering plant (Q)

. The diagram represents the flow of substances within

n balanced eeosystemn The boxes are varous trophie
levels. Which box represents the producers?

l -

ey
— Shows flow of arganic snbstances
—»— Shows flow of carton dioxide

(a) B (h) D
(c) A (d) ¢
Ans: (a) B

Producers ety out photosynthesis, absorb CO, and
produce carban compounds Al these functions are
perfonmed by B. hence it represents producers.

As a biologist, if you become very imterested in the
study of the mtersetion of orgasins with each other
and the enviranment vour snhspeciality wounld be

(a) Zoology (b) Ecology
{¢) Botany (d) Herpetology
Ans : (b) Ecology

An example of & producer in the aquatic food web
would be

() Dnckweed

(e) Fish

Ans : (0) Duckweed

(b} Ducks
(d) Insects

In an ecosystem green plants sxe known as
(a) primary consmmers (b) secomdary consumers
(¢) producers (d) tertiary consumers

Ans : (¢} producers
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31

Sun gives yadhintions m the formn of
{a) Infra-red radiation (h) Arteries
{e) Alveali of Inngs (d) Nexves

Ans : (d) Nerves

1.

1
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The waste we generate may be
Ans : Biodegradable, non-hiodegradable.

........ 15 defmed as sum total of all conditions and
influences that affect the life of organisms.
Ans : Envivonment.

Substances that are broken-down by biological
processes are said to be ...

Ans : Biodegradable

Substances that are not boken-down by biclogical
processes are said to be

Anx : Non-biodegradable

All the interacting crganisms in an area together with
the non-living constituents of the environment form
an

Ans ¢ BEcosystem

Gardens and crop Hields are examples of
Ans @ Artificial Ecosystem

Orgamisms can be gronped as producers, consumers
and . according to the manner in which they
obtain their substances from the envitonment.

Ans : Decomposers

The marerials which are locked up in dead complex
organic substance sre made available to plants m the
form of simple morganic substances by the ..

Ans : Decomposers

Fvery food chain starts from
Ans : Producers

The energy flows fram antotrophs to the heterotrophs
Ans : Decomposers

The flow of energy is nlways in foud chains.
Ans : Umidirectional

The mter locking pattern of vanous food chains s

18.

20.

The disposal of the waste we generate is causing
serions . problems

Ans ¢ Envivonmental

Climate refers to the prevailing . conditions
Ans @ Weather
The total amount of . per unit time produced in

an ecosystem 1s called the gross primary productivity
Ans : Organic muterial

The henschics within s food web sxo called . ...
levels.

Ans : Trophic
Without the _in & food web many chemicals
would not be recycled.

Ans : Decomposers

Becsuse there is a logs of encrgy ot each trophic level
... bomass can be sapported at each successive
level

Ans : Less

The contamination of s by adding guses, soke and
ash is called . .

Ans : Pollution

Burmning of fossil fuels is the main canse of reloase of

Itw ... ... 1o sleep in closed room with w coke fire
burming
Ans : Dangerons

Dectesse in ozone in stratosphere is linked to release
of synthetic chemicals like
Aus : Chlorofluorocarbons

.........

Improvement in hfe style often results in increased
generation of material
Ans : Waste

The . make the energy from sunlight svailable 1o
the rest of the ecosystem.

Auns : Producers

The vse of chemicals ke CFOs has endangere the

Total mumber of individoak of any species at a place
is known ws .
Ans : Population

The various populations of living organisms in an area

Ans @ Botie commumity
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......... absorb UV rays and protect the earth
Ans : Ozone layer

All the ecosystems taken together in a geographical
ares form o bigger nnit known as

Ans : Biome

.. absorb UV rays and protect the enrth
Ans : Ozone laver

Hydrosphere, Eithesphere and atmosphere along with
hyving organism form ... ..

Ans : Biosphere

The sequential process of one organism consurmng the
other forms o ...

Ans : Food chaan

oo mL B8 seavengers of envivonment.

Ans : Devompesers

The two important functions that food chains depict
are transfer of ... LoV, :

Ans : Energy, matenials

Decrease in ozone concentration has been linked to
synthetic chemicals hike . which are used as
. ... m the refrigerators.

Auns : chloroflnorocarbons, refrigerants

- energy and convert it into

. me the biotce components of
Ans : Plants, animals

The energy available at cach successive trophic level is
... of the previous level,

Ans : 10%

The physical and biological world where we live in is
Ans @ ccosystemn

In an ecological pyramid. the base represents
level

Ans : Producer

Harmfol by precinets of fertiliser industries ave

Ans : SO, NO

In nature, all green plants are ... wheress anunals
HIE CONSNIMNCTS

Ans @ Producers

The physical factors like temperature, rainfall, wind

I

and soil of an ecosystem are the .
Ans : abiotic

factors.

Nitrogen-fixing bacterin bive in nodules on the roots
of . plants

Ans : Leguminious

Nitrates and nitrites present i the soil we changed
into . by micre-orgunisms.

Ans ;: Ammnonia

The meressed nitrogen m tivers and lukes boosts the

growth of and other phytoplankton at the cost
of other aguatic organism.
Ans : Algae

The amount of varions chemical matenals cycling
through the biosphere more or less remmins
Ans : Constant

Ozone is a molecule formed by . of . .
Ans : oxvgen, atmosphere

Waste substances that are broken down by microbes
are called ...

The energy takes place from ontotroph to the
heterotrophs
Anx : True

Secondary consumers in food chain  are always
CAITIVOIICS,
Ans : True

Forests, and pods are natwal cowystem while
gardens and fields are artifical ecosystem

Ans : True

The inter locking pattern of various food chains is
referred as food wab.
Ans ; True

Carbon dioxide causes depletion of ozone layer thereby
ullowing more UVoradiations to reach the earth
Aus : False

Biodegradoble wastes should be separated and kept in
blue colour bins for garbage collectors

Ans ¢ False

Phvtoplanktons are primary consnmers.
Ans : False

UNEP has foraged an agreement to freeze CFC
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production
Ans : True

An ecosystem consists of biote nnd nbiotic components
Ans : True

Different materials are not eveled i the environment
Ans : False

M. Specific enzymes are needed for the break-down of a
particular substance.
Ans : True

12. Forests, and ponds are natwal ecosystem while
gardens snd fields are artifical ecosysten
Aps : True

. Wastes are of two types, biodegirndable and non-
hindegradable
Ans : True

. Now-biodegradable articles are the ones which cannot
be digested.
Ans : True

15, Organism can moke organio componnds from inorganic
substances by using the radiant energy of the sun
the presence of chlorophyll
Ans 1 True

16. Ecology is the scientific study of the imteraction of
arganisms with each other and the enviromment.
Ans : True

1. The abiotic compenents of the environment are the
Living factors.
Aus ¢ False

18. An ecosystem 1s made up of one type of community.
Aus : False

19, In general, food webs consist of producers, consumers,
and decomposers.
Ans : True

20. Earth is kept warm due to green house flux.
Ans : Troe

1. Kag pickers reroove reusable articles.
Ans : False

22. Forests, snd ponds are nstural ecosystem while
gardens and fields ave artifical ecosystem.
Auns : True

23. Blue green algae are producers.
Auns : True
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Decomposers reduce the fertility of soil
Ans : False

The amount. of usable energy remains constant as it is
peassed from one trophic level to another.

Aus : Fulse

The enevgy withm an ecosystem 15 fixed and never
changes.
Ans : False

Ozone is formed in stratosphere by action of ultraviolet
Ans : True

Forests, and ponds e natural ecosystem while
gardens and ficlds are srtifical ecosystermn.
Aus : Troe

The reproduction and  other activities of living
orgonisms are affected by the abiotic components of
coosVELeTn
Ans : Te

The mmaterinls like plastics are not acted npon by
physical process
Ans : False

Decompaosers reduce the fertility of soil.
Ans : Fulse

32, Foud ensures swrvival of all types of tophic levels.

Ans : True

Humon population and technology wie having o
destructive impact on the biosphere

DIRECTION : Each question containg statements given in
two colunns which have to be matched, Statements (A, B, C,
1) in columm-1 have to be matched with statements (p, q, r, s}
in column [T

)

Column I Colunm T

This area on the
planet hos perma-
uently frozen soil
that does not allow
for the growth of
lu?phm.s.

(A) ()
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Colunm 1 Colunn 11 Colmm 1 Colmm 11
(B) | Grassland (q) | This ares on the (B) | Accumulation (q) |CFGCs
planet has fow of pesticides at
trees, very fertale higher trophic level
soil and usually i
i (") | Green plants (r) Her bivore
grasses The rain- (D) | Flow of encrgy in | (2) | Biomagnification
fall ammounts = an ECos ysten
low and the rain E) |Consists of 3 t) | Decomposers
18 more abundant 5 atoms of oxygen 9
Tk
mmtbc " (F) | Main cws:’ of (u) Producers
() | Tropical reinforest | (1) | This biome 15 tion of ozone luver
usnally located
OB t.le equtor. ((3) | Second trophic (v) Unidirectional
Hainfall srounts level
are very high, (H) | Break-down of (w) | Carnivores
vegetation s dense dead organic com-
and soil gquality is pounds
L Ans : A-w, Bs, C-n, D-v, E-p, F-q, G-, Het
(D) | Savanna (s) | A type of grass.
land biome that
experiences njn_v
seasons and long Colnnn 1 Colunm IT
peiodect = (A) | Filanent of elec- | (p) | Copper
Ans : A-p- B-q, C-r, D-s tricul bulb
3 (B) | Henting elements | (y) Lend-tin alloy
. Connection wire Tungste
Columin 1 Colmum 1T i i (o) M
, : (D) | Fuse wire (=) Nichrome
(A) | Grass (p) FPrimary camivore
(B) | Grasshopper (@) |Secondary carm- Ans: A, Bs, Cp, Dgq
vare s
(©) | Frog () | Producer N AND REASON
(D)An:{ :“: oo D &) DIRECTION : In the following questions, u statement of
¢ Aer, Bs, C-p, Dq assertion (A) is followed by a statement of reason (R). Mark
3. the correct choiee as.
{8) Both assertion (A) and resson (R) are true and
Calunm [ Colimmn IT reason (R) is the correct explanation of assertion
(A)
i s g L gmm“" o (b) Both assertion (A) and reason (R) are true but
reason (R) is not the comrect explanation of
(B) | Estuarme ecosys- | (q) | Rajasthan, Pun- assertion (A)
Rete ’('_:b mdtl’ﬂ" of (c) Assertion (A) is true but reason (R) is false.
» s (d) Assertion (A) is false but reason (R) is true
(C) | Indus ples () | West Bengal und {#) Both Assertion and Reasan are false
Andman Nicobar
(D) | Arctie zone {5) | Cape Comarine to Assertion : Green plants of the ecosystem are the
Cujarat transducers.
Reason : Producers trap the radiant energy of the sun
Ans: As, B, Cq, D-p and change 1t mto chenucal energy.
Ans ¢ (a) Both assertion (A) and reason (R) aie true
4 and reason (R) is the correct explanation of assertion
Colvmn I Colvnn 1T (A).
(A)I‘I‘hhdtmphiclml (p) I‘h’“ Assertion : Aquanums are known ss the man-made
mysumm
Reason : Aquarinms are created and maintamed by
homans
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Ans : (o) Both assertion (A) and reason (R) are true
and reascem (R) is the corvect explanation of assertion
(A)

Aquarinms are known s the man-made ecosystemns
because these are created and maintained by humans,

Assertion : Flow of energy m n food chain is
unidirectional.

Reason : Energy captuved by antotrophs does not
revert back to the sols input and it passes to the
herbivores.
Am:(l)Bothuseenion(A)mdM(R.]mm
and resson (R) i the conect explanation of assertion
(A)

The flow of energy through different steps in the
food chamn is unidirectionsl. This means that energy
mp&uredb_\'mlnhaphdoesnotmbﬂtolha
solar mput and it passes to the herbavores.

Assertion : Biomsgnification is caused due to the
acennmlation of biodegradable toxicants in organisus
at cach successive trophic level

Reason : Biomagnification leads to the maximum
accumulation of chemmeals in small fishes.

Aus : (0) Both Assrtion and Reason mie false

Biomagnification is caused due to the accumulation
of non-hiodegradable toxicants in onganisms al each
snccessive trophic level The maximum concentration
of these chemicals gets acenmmlated in human body
becanse they cecupy the topmost place i any food
chwmn.

Assertion : Animals adopt different stratcges 10
survive in hostile environment

Reasan : Praving mantis s green in colour which
merges with plant fohage.

Ans : (n) Both assertion (A) and reason (R) are true
andrmn(R)iathemnutexphno&iona!mhou
(A).

Animals blend with the surmoundings or background
to remain nmmoticed for protection and aggression.

Assertion : A network of food chains axisting together
m an ecosystem is known as food web.

Reason : An animal like kite cannot be a part of a
food web

Ans : (¢) Assertion (A) is true but reason (R) is false.

In the foud web different food ehains are interconmected
Fach chain consists of different trophic levels 1e.,
producers, consmmers and detrivoroes. So. kite can
abo be a part of food web

Assertion : OFCs deplete the ozone laver.

Reason : CFCs are usel as refrigerants and i fire
extingnishers.

Ans : (a) Both assertion (A) and reasom (K) are troe
and reasem (R) is the correct explanation of assertion
(A)

Ozone layer is getting deploted st the higher levels of
the atmosphere due to effect of chlorofluorocarborns
(CFCs) which are used as refrigerants ond in fire
extinguishers.

1 8

3.
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Assertion : The concentration of hurmful chemicals =
mare in human beings,

Reason : Mon 15 at the apex of the food chain

Ans : (a) Both assertion (A) and renson (R) are true
and reason (R) is the correct explanation of assertion
(A).

Harnful chemicals scenmulate progressively at each
trophic level Since the man w ot the apex of all the
food chains, the concentration of harmful chemicals
may be more i human bemgs The phenomencn
mvolved is known as biomagnification.

Assertion t The crown fires sie most destructive ns
they burn the tree top

Reason : Due to crown fire the temperature of that
area may rise npto 700°C
Am:(n)Bothasscr&ian(A)and resson (R) are true
and reason (R) is the correct explanation of assertion
(A)

Assertion : Tropical rin forests are disappearing fast
from developing conntries such as India

Reason : No vahie 15 attached to these forests becanse
these are poor in hiodiversity.

Ans : (¢) Assertion (A) is true but Teason (R) 18 false.
Tropieal rain forcsts have disappeared mainly due to
man’s activities Dne to over population m countnes
Jike India, rain forcsts are cut to make ploce available
for man to live and build houses. To build buildings
and factories man has meessantly ent down tress. This
has caused the depletion of run forests

Assortion : Abiotic component of om  ecosystem
imvolves eyoling of matenal und fow of enengy.
Reason : This is essential to keep biotic foctors alive
Ans : (a) Both sssertion (A) and 1eason (R) are true
and reason (R} is the correct explanation of assertion
(A)

Assertion : First trophic level in a food cham is always
a green plant.

Reason : Gremn plants are called producers,

Ans : (1) Both asscrtion (A) and reason (R) ore tre
and reason (R) is the correct explonation of sssertion
(A). 4

Green plants are producers. The first trophic level in
a food chain is a producers Le those orgamsms which
produce food by photosynthesis

Assertion : Man 15 o herbivore

Reason : Omnivores eat both plant food and meat of
animals.

Ans ¢ (d) Assertion (A) is false but reason (R) is true

Assertion : In an ecesystem, the nction of producers
is to convert organic compounds inte morgame
compounds

Reasan : Green plants, the producers, transdnuce solar
Encrey.

Aus : (a) Both assertion (A) and reason (R) are true
and reason (R) is the correct explanation of assertion
(A)
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Assertion : Trophic levels are formed by only plants

Reason : Food chams and webe are fornmed due to
linked organistos on the basi of Lheir matrition

Ans : (d) Assertion (A) is false but resson (R) s true

Assertion : Herbivores are colled first order consumers
Reason ¢ Tiger 15 a top carnivore.

Ans : {(b) Both assertion (A) and veason (R) are
tre bot reason (R) is not the comrect explanation of
assertion (A).

known us fust order carmivores. The camivores like
tiger cannot be preyed upon further, hie st the top of
food cham and hence termed as top camivores.

Assertion : Ecology is study of relationship between
living orgamisme and their environment.

Reasan : The biotic communty snd non-living
environmanent of an area function together to fonn an
ceosystem.

Ans : (a) Both assertion (A) and renson (R) are true
and resson (R) is the correct explanation of assertion
(A).

Assertion : Polythene bags and plastic contamers are
non-edegadable substance

Reason : They can be broken down by micro-organisms
in natural simple harmless substances

Ans : (¢) Assertion (A) is true but reason (R) is folse.
Substances like polythene bags and plastics sre non-
biodegrndable because they cannot be hroken down
by micro-organisims into simpler harmless substance in
nature. Substance that can be hroken down by micre-
organisms in natursl sunple harmless sushstances are
bicdegradable substances.

Assertion : Consamers are present at the first trophic
level.

Reasan : Consuners or heterotiophs fix energy making
it available for autatraphs

A : (e) Both Assertion and Reasom are fulse.

Autotrophs are present at the fust trophic level
because they fix solar enengy making it available for
consmners o heterotyophs.

Assertion : Aquatic food chain is the food chain
present in water bodies.

Reason : The example of aguatic food chain is
phytoplankton — zooplankton —— fish ——
shark

Aus : (s) Both assertion (A) and reason (R) are true
and renson (R) is the correct explanation of assertion
(A).

Aquatic food chain is the food chain present in water
bodies. e g phytoplankton —— zooplankron —
fish — shark.

Assertion : Decomposers keep the environment olean
Reason : They recycle matter by breakmg down the
organic remains and waste produots of plants and
animols.

Ang ¢ () Both assertion {A) and reason (R) are true

2.

. Assertion

and reasom (R) is the cormeet explanation of assertion
(A).

Decompasers  keep the envitonment clean by
decomposmg or consuming the dead vemains of other
organisms

Assertion : Ozane is both beneficial and damaging
Reason : Stop the release of chlovofluoroesrbons to
proteet, the azone,

Ans : (b) Both assertion (A) and resson (R) are
true but reason (R) is not the corvect explunution of
assartion (A)

Ozone 15 damaging as it is a desdly poison. It 1s
beneficial as it shields the smiface of the earth from
UV radiations of the Sun. We shonld stop the relense
of Chlorofluorocasbons (CFCs) to protect the azone.

Assertion : Garden is an artificial ecosvstem.

Reason : Biotic and  abiotic components  are
manipulated by humans

Ans @ (a) Both assertion (A) and reason {R) are true
and reason (R) is the correct explunntion of sssertion
(A)

Assertion : Supersonic Jets canse pollation as they
thin out ozone

Reasou : Depletion of azone cause green honse effect.
Aus : (n) Both assertion (A) and reasom (R) e true
and resson (R} is the cotrect explanation of assertion
(A).

Biotic compononts  of  ecosvstem
comtinuously require encrgy to cany on life processes.
Reason : Abiotic comonents are the non-living factors
of the ecosystem.

Aus : (b) Both assertion (A) and reason (R) are
true but reason (R) is not the conrect explanation of
wesertion (A).

Assertion : Decomposers act as cleaning sgents of the
enviromnent

Reason : The decomposgers recycle waste material in
the hydrosphere.

Ans : (¢} Assertion (A) 1= true bul reason (R) is false
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